
1. In triangle ABC, right angled at B, if ∠A is 45∘, find the value of cot A and
tan C.

A. 1, 1

B. √2, √2

C. , 

D. , 

2. The value of cosec 30∘ + cot 45∘ is

A. 1

B. 2

C. 3

D. 4

3. If sin A = , find the value of secA cosA + cosecA cosA.

A.  

B.  

C.  

D.  
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4. What is the value of tan θ in the given triangle?

A.

B.

C.

D.

5. If triangle ABC is right angled at B and
sinA = , then find the value of cos A.

A.

B.

C.

D.

6. Find the value of sin(60° + θ) − cos(30° − θ).

A. 2 cosθ

B. 2 sinθ

C. 0

D. 1
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7. Which of the following trigonometric ratios will have the same value as cot 
53∘?

A. sin 65∘

B. tan 47∘

C.
tan 37∘

D.
cosec 37∘

8. If tan 2A = cot (A-18∘), then find the value of A. 

A.  18∘

B.  36∘

C.  24∘

D.  27∘

9. In a right angled triangle ABC (right angled at B),

the value of tan A ✕ tan C = _______.

A. 1

B. 2

C. 5

D. 10
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10. In the given right angle triangle, if Sinθ  = , then find the value of 3tanα.

 

A. 4

B. 3

C. 5

D. 1

11. The value of sin
229∘ + sin

261∘ is

A. 1

B. 0

C. 2 sin
229∘

D. 2 cos
261∘

12. If 5tanθ=4, then value of (5sinθ -4cosθ)/(5sinθ +4cosθ) is:

A.

B. 0

C.

D.
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13.
+ = ___

A. 1

B. cos θ + sin θ

C. cos θ sin θ

D. cos θ − sin θ

14. The value of (1 − cosA)(1 + cosA)(cosec
2
A) is:

A. 0

B. 1

C. 2

D. 3

15.
9sec

2
θ - 9tan

2
θ is equal to:

A. 1

B. -1

C. 9

D. -9

16. If (secθ - tanθ) = , the value of (secθ + tanθ) is:

A. 1

B. 2

C. 3

D. 4
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17.
+ sin A =  ? 

A. cot A

B. 2 sin A

C. 2 cos A

D. sec A

18. If in a right-angled triangle ABC angles A and B  are acute, then evaluate

1 +  =

A. 1

B.  sec
2
A

C.  secA

D. 2

19.
sec

4
θ − sec

2
θ is equal to

A. tan
2
θ − tan

4
θ

B. tan
4
θ − tan

2
θ

C. tan
4
θ + tan

2
θ

D. tanθ + tan
4
θ

20.
 = 

A. sec
2
A

B. -1

C. cot
2
A

D. tan
2
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